Practice Set 1

A Test Based on Whole Content

1. Identify the figure which will complete the given
figure series.

2. Three out of four figures form a group. Identify the
figure that does not fit into the group.
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3. Which of the following figures will complete the
figure (X)?
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4. Which pattern completes the second pair in the
same way as first pair?
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5. Choose the figure which is different from others.

6. What comes next in the following series?
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(a) 34 (b) 38
(c) 28 (d) 40

7. Complete the second pair in the same way as

first pair.
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8. Find the missing number.
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(b) 54
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9. How many groups of 4 candies can be formed fvhite e 1spalied Finky hengvhat |
from given candies? the colour of milk?

(a) Pink (b) Red
(c) Blue (d) White
13. Count the number of circles in the given figure.

(a) 6

(b) 2 (@) 4

(c)4 (b) 12

(d)8 (c)8
(d) 10

10. Which shape or pattern belongs to the group of
shapes given? 14. Observe the given figure carefully and answer the

: E J guestion given below.
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Which monkey is sixth from the right end?
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11. Which of the following figure is hidden in the
given figure(X)? 15.1f 49701 is coded as 079, then find the code
of 81@?3
(a) 861
(b) 168
(c) 186
(d) 618
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